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e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
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There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short -answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long -answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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1. ‘Ig B SHEEAT e i GRHTiNG i | 1

Define the term ‘Ageing population’.

5. R T T A 3 a () § anfia B | Lo

Classify the Indian cotton textile industry into two sectors.

3. 3Tk AT <hl THTRIAT fopd TR 8T hl =i 3T TEUE 9 At wdt

8? 1
How does the navigability of inland waterways depend on the width and
depth of the channel ?

4. AN YETE R B & ? 1

Why do people migrate ?

5. " TR & Soa™tae &8 ° T S BEd IS Al 8 2 1

In what type of climatic areas is sugarcane cultivated ?

6. T U T AN B 2 1

What is meant by tourism ?

7.  Torm YR STl YeTEt IgW & i oMiYes g § wewqu qiEeR Fad g 2 1

How do internal migrants play an important role in the growth of the

economy of the source area ?
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8. & AT A % WG 4 WRA H [fsd Il Sfeqi & fam # el fiem
s & 2 IareTon wiga wee i | 3

How have security and scarcity of water played a role in the development
of clustered rural settlements in India ? Explain with examples.

9. WRA H AN % YT Hl T8AEH o [T TP foh U fohegl o HEwqui
TEhIhi shi ST HIfT | 3x1=3

Explain any three important indices used to identify the clustering of
industries in India.

10. “TUEEN, Ueh HHT o 3T=TId & Uer shl ST Hehd! &, SIT GHTLT <hl BT 7 hia
g, qU Yy THR gl | e A Bt 7 17 39 hed o ferweror
@ﬁml 3

“Possibilities can be created within the limit, which do not damage the
environment and there is no free run without accidents.” Analyse the

statement.

11. = fu 7 sm@i 1 gagiges s1eme T 3R Ik A9 o 7Tyt &
ERIECUE I 1+2=3
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(11.1) W feu 7u s § grfio s gfasqi (A) 3R (B) i gg= = ISy
3R 36 9 faRau |

(11.2) I UTHIOT S&T o Gfaey shl Teh-Ush fomiydr fafigu |

Study the diagrams given below carefully and answer the questions that
follow :

(A) B)

(11.1) Identify and name the rural settlement patterns in the above

given diagrams shown as (A) and (B).

(11.2) Write one feature of each rural settlement pattern.

g :  HrlcIRad ge FacT gieaTiaa ghgniaal & 1079, 397 9@ 11 & € WE -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 11 :

foerrasfiar <urt ® Tmio sifeaat it fopedl i @ aHEnsti ol Tas¢ hife | 3x1=3

Explain any three major problems of rural settlements in the developing

countries.
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12. = fu U @ 1 AEuHgEs 1ereE Sife 3t 3Ee R fou e yei %
IR GNT 3x1=3

=7 s EITT G

Cj & T wen
& sy ¥y oiE-srEE
i s TS TG

(12.1) IR NG ¥ YeRid | 3N 3G G937 hl IgaH hIfy R 3T
T forfaw | g v fohm U W feya R 2

(12.2) 39 933 ! HIA-Hl 2 Afeal I Iucteds HUdl 3 2

(12.3) 38 9I < foTu forq 1 47 &iq -1 8 2
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Study the diagram given below carefully and answer the questions that

follow :
Steel Plant To Bokaro
s
T v Steel Plant
C;” @ Limestone
Hirakud Dam Y7 Iron-ore
\ ma—sma— Railway

(12.1) Identify and name the iron and steel plant shown in the above

diagram. In which State is this plant located ?

(12.2) Which two rivers provide water to this plant ?

(12.3) Which is the main source of electricity for this plant ?

64/2/3 7 P.T.O.



Note :

13.

14.

15.

16.

17.

64/2/3

el e7 dacT gieanea ahenfeel & o, 397 g&ear 12 & T
WE:

The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 12 :

ToeTs sEuq I o faehr o o Saierl fopedl i Jg@ Sehl i =TT
Eﬁll%lq | 3x1=3

Explain any three major factors responsible for the development of
‘Bhilai Steel Plant’.

“Tri smafyrse fAgem wa & ‘AT <kl U TR wEEn g 17 59 gEEn b
% DT H TEh fohral dF ol hl AT FHITT | 3x1=3

“Urban waste disposal is a serious problem in ‘Metropolitian cities’ of
India.” Explain any three values that can help in minimising this
problem.

TER T MYk Mfdes fora # ‘@ansti’ o wgw @i avia Shifdw | 5

Describe the significance of ‘services’ in the modern economic
development in the world.

G < faferi w1 ufeufa i sTaear o s/Es i Thid o YR W &1
H Fifipd HINT | o THGE ¥ fRH YHR A B ? 3@ Higd TR
$IfT | 1+4=5

Classify mining methods on the basis of mode of occurrence and the

nature of the ore, into two categories. How are they different from each
other ? Explain with examples.

“fohra @Il 1 heg T W@ AT AT A1(gE, | foh faehm &l @rT o o=
@A |7 39 HYH i gfse i | 5

“Development must be woven around people, not the people around
development.” Support the statement.

TaR # ‘foserm % fomr gfg’ den ‘foshre dfga gfg’ i gl afgd T
HIT | 3+2=5

Explain with examples ‘growth without development’ and ‘growth with
development’ in the world.




18.

19.

20.

21.

64/2/3

“ORd § ST TETYAT Rl TR0 3T YEY A g |7 dehl Gfed 39 hed i
SIET 38T |

“Conservation and management of water resources is essential in India.”
Justify the statement with arguments.

faea aftaga 1 yg@ faund fore TR Th-ge il e @ ? IS8 digd T
i |

How are the principal modes of world transportation complementary to
one another ? Explain with examples.

YA o IT=AUST IR o Seeld YT <hl ISTEN Figd saT@al hifag |

5x1=5

5x1=5

Explain with examples the changing nature of the international trade of
India.

ER & fau mu geifas Weraafes 4§, fagn gt simfas d@eon A, B, C,
D 3 E <kl 8= hIfu it 39 g8t am Ffafad S 6 7ee 9 39

ure i T dare W fafe

A, uREH gewd gl § T Se ew
B. Tafed 9uew =1t W@ &=

C. “UR-AETG (Tt 1 AfaH TIE
D. 9q@ g9

E.

SIS AT

5x1=5

Identify the five geographical features shown on the given political
outline map of the World as A, B, C, D and E and write their correct
names on the lines marked near them with the help of the following
information :

A.

= o a w

A country with large area in Asia

A major area of subsistence gathering

The terminal station of a ‘Trans-Continental Railway’
A major seaport

An international airport

P.T.O.



Note :

22.

64/2/3

el v7 #acr gieanea ahenfde & fog, 97 G 21 & T
WE:
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)
(21.1)
(21.2)
(21.3)
(21.4)

(21.5)

TR § &Ahd 6l gfte & HH-a1 T HoH §1 7 ?

FER o fopdll T Y@ Tated guger & w1 AW fofen |

R-hfed™ T o dfeadt R o w3 &1 9 fafen |

3ThTeRT & fohelt T Y@ Tggl-9o+ 1 fafaw |

srieeforn & fopeft T S-S arg-ua &1 9 fafaw |

Which is the largest country of Asia in area ?

Name any one major area of subsistence gathering in the world.
Name the western terminal station of Trans-Canadian Railway.
Name any one major seaport of Africa.

Name any one international airport of Australia.

5x1=5

TRA & feu Tu eHifas @r-amt § fafafea ofe @t = sugs el
TMEY 3 37k 8 fafau .

(22.1)
(22.2)
(22.3)
(22.4)

(22.5)

e foaehtd gk | Haid T a1a T3
TTheA 1 3 IeaTgh TS

sfifeen # feuq dired=r Mrifiehl o
dferTg o oo St i Tq@ '@ =

gy H fed STeaisd arg-uea

10
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Locate and label the following five features with appropriate symbols on

the given political outline map of India :

(22.1) The state having the highest rank in Human Development Index
(22.2) The leading producer state of groundnut

(22.3) The software technology park located in Odisha

(22.4) The major coal field located in Tamil Nadu

(22.5) An international airport located in Assam

e :  HEiRad 3o Fa gIEETEAT aheniaEl & 077, Jv7 e 22 F € W/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1) WRA 1 HH-81 TT WG foohE Y@ § Fai= T a1el 8 ?

(22.2) WA T BH-T1 TsT YheA T SV IcqTEH B 2

(22.3) e # oo wiFeeRR Mreifiehl 9 1 9 fafeg |

(22.4) dHeATg ® oo SRel 61 9@ @ #1911 fafew |

(22.5) 3TEH H fedq SIS ayg-ueH &1 9 fafE | 5x1=5

(22.1) Which state of India has the highest rank in Human
Development Index ?

(22.2) Which state of India is the leading producer of groundnut ?
(22.3) Name the software technology park located in Odisha.
(22.4) Name the major coal field located in Tamil Nadu.

(22.5) Name an international airport located in Assam.
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THE. 21h fom For question no. 21
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I g. 22 & fou

For question no. 22

U T {T-AHR (TS TR )
Outline Map of India (Political)
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